Canonbury Home Learning
Year 1 Maths

Date: Tuesday 23.6.2020
LO: To subtract within 20.

Watch the interactive video on White Rose Home Learning

Summer Term - Week 4 (w/c 11th May)
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Lesson 2 - Subtract within 20
Work out the subtractions.

Have a go

D I5-6=

2) 16-8-=

1. Waich the video and pause it to answer the questions.

2. Use small objects and subtract the smaller number from the larger number.

3. Represent your subtraction calculation in this way:

Use the tens frame to help work out the answer to the subtraction.

You can draw the counters.
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18-6=12 Please scroll down for tens frames.

4. Answer the questions on the worksheet.
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Today we are going to subtract. We are also going to subtract using a ten frame.

Subtraction using a ten frame
I8B-6=12

B-6=7

©

©

O

O

O

©

O

©

O

@

O

O

Subtraction using a ten frame
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Would you have to count the
counters that are left or would
you know ite
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Lauren has 13 buttons in her sewing box.
She sews 6 buttons on her shirt.
How many buttons does Lauren have lefte
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13 is the same as 10 and 3 more.
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What are we going to do to solve thise
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13-6=

B3-6=7?
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Try and do all 4 questions

o Rosie has 15 cokes.
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Her friends eat 6 cakes.

How many cakes does Rosie have left?

Rosie has cakes left.

o Jack has 13 stickers.

He gives 7 stickers to Dora.

How many stickers does Jack have left?
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Jack has stickers left.
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Ron and Eva have worked out 12
number line.
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a) What 15 the same and what is different?
b) Use Eva's method to complete
the subtractions.
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O Fill in the missing numbers.
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